Dakota Digital

SGI-8 rev. B
SIGNAL INTERFACE UNIT

For converting tachometer signals.
This unit can recalibrate an ignition system tachometer signal.

Wiring:
PWR - 12 volt accessory power
GND - ground
Sig. In- Ignition system tach signal
(negative side of coil or tach output)
OuUT1 - high voltage output for some tachometers
ouT2 - standard output to tachometer
OuUTS3 - not used
OuUT4 - not used
OuUTS5 - not used

If OUT2 does not drive your tachometer, try using OUT1.

Switch settings:
Engine | Tach |1 2 3 4 5 6 7 8 9 10

8 cyl 6cyl [On |Off [On |[On |Off |On | Off |On | Off | Off
8 cyl 4 cyl On |Off |Off |On |On [On [On [On |On |On
6 cyl 8cyl |On |On |Off [Off |On [On {On [On |On |On
6 cyl 4 cyl On |Off |On |[Off |On [On [On [On |On |On
4 cyl 8 cyl On |[On |Off |On |On [On [On [On |On |On
4 cyl 6cyl [On |[On |Off |On |Off |On | Off |On | Off | Off
10 cyl 8cyl |On |Off |On [On |[Off |[On {On [On |On |On
8 cyl 10cyl |On |[On |Off |Off |On |On | Off |Off | On | Off

Other calibration combinations are possible by looking at chart on the last page. Switch 1
should always be on. Switches 2-10 adjust the calibration.



An "N" switch value represents an ON position. A "F" switch value represents an OFF position.
Cal Hi represents switch #2 ON. Cal Lo represents switch #2 OFF.

Tach column is with switch #2 OFF.

## | #|#|#|#|#|#]CalHi Cal |tach | # | # #|#|#|#|#|#]| CalHi Cal |tach | # | #|#|#|#|#|#|#] CalHi Cal |tach | # | # #|#|#|#|#|#]| CalHi Cal | tach
3|4|5(6(7]|8]|9]1 Lo 3|4|5(6]|7]8]|9](1 Lo 3[4(5]|6]7|8|9]1 Lo 3|4|5(6]|7]8]|9](1 Lo
0 0 0 0

NfN{N|N|N[N[N]N| 4.000| 1.000[128 IN|F|N[N|N|N|N[N| 2.667| 0.667|192 | F[N|N|N|N[N[N|N| 2.000| 0.500 (256 [F|F|N[N|N|N|N|N| 1.333| 0.333|384
NfN[N|N[N[N|N[F| 3.969| 0.992 129 IN|F|N|N|N|N[N|F| 2.653| 0.663]|193 |F|N|[N|NIN|[N|N|F| 1.984| 0.496 258 |F|F|N[N|N|N[N|F| 1.326| 0.332|386
N[N|N|N|IN[N[F|N| 3.938| 0.985[130 N|F|N[N|N|N|F[N| 2.639| 0.660|194 JF[N|N|N|N[N[F|N| 1.969| 0.492|260 [F|F|N[N|N|N|F|[N| 1.320| 0.330|388
N|N[N|N[N|NJF[F]| 3.908| 0.977 131 IN|F|N|IN|N|N|[F|F| 2.626| 0.656|195 |F|N|[N|NIN|N|F|F]| 1.954| 0.489 (262 |F|F|N|[N|N|N[F|F| 1.313| 0.328 | 390
N[N|N|N|IN[F[N|N| 3.879| 0970132 IN|F|N[N|NJF|N[N| 2.612| 0.653|196 | F[N|N|N|N[F[N|N| 1.939| 0.485|264 [F|F|N[N|N]JF|N|[N| 1.306| 0.327|392
NfN[N|N[N|F|N[F| 3.850| 0.962 133 IN|F|N[N|N|F[N]F| 2599 0.650|197 |F|N|[N|N[N|[F|N|F| 1.925| 0.481 266 |F|F|N[N|N|F[N|F| 1.299| 0.325|394
N[N|N|N[N[F[F|N| 3.821| 0955|134 IN|F|N[N|IN|F|F[N| 2.586| 0.646|198 | F[N|N|N|N[F[F|N| 1.910| 0.478 268 [F|F|N[N|N|F|F|[N| 1.293 | 0.323|396
NfN[N|N[N|F|F|[F| 3.793| 0.948 135 IN|F|N|N|N|F[F|F| 2573 | 0.643]|199 |F|N|[N|NIN|F|F|F| 1.896| 0.474 270 |F|F|N|[N|N|F[F|F| 1.286| 0.322 ]398
N[N|N|N|F[N[N|N| 3.765| 0.941[136 |N|F|N[N|F|N|N[N| 2.560| 0.640|200 JF[N|N|N|F[N[N|N| 1.882| 0.471 272 |F|F|N[N|F|N|N|[N| 1.280| 0.320 | 400
NfN[N|N[F|IN|N[F| 3.737| 0.934 137 IN|F|N|IN|F|N[N|F| 2547 | 0.637]201 |F|N|[N|N[F|[N|N|F| 1.869| 0.467 [274 |F|F|N|[N|F|N[N|F| 1.274| 0.318 402
N[N|N|N|F[N[F|N| 3.710| 0928|138 IN|F|N|N|F|N|F[N| 2535 0.634|202 | F[N|N|N|F[N|[F|N| 1.855| 0.464 276 |[F|F|N[N|F|N|F|N| 1.267| 0.317 | 404
NfN[N|N[F|NJF|[F| 3.683| 0.921 [139 IN|F|N|N|F|N|F|F| 2.522| 0.631]203 |F|N|[N|N|[F|N]JF|F| 1.842]| 0.460 (278 |F|F|N[N|F|N|F|F| 1.261| 0.315]|406
N[N|N|N|F[F[N|N| 3.657| 0914|140 IN|F|N[N|F]F|N[N| 2510 0.627|204 | F[N|N|N|F[F[N|N| 1.829| 0.457 280 [F|F|N[N|F]F|N|N| 1.255| 0.314]408
NfN[N|N[F|F|N[F| 3.631| 0.908 141 IN|F|N|IN|F|F[N|F| 2.498| 0.624]|205 |F|N|[N|N|[F|[F|N|F| 1.816| 0.454 282 |F|F|N|[N|F|F[N|F| 1.249| 0.312]410
N[N|N|N|F[F[F|N| 3.606| 0901|142 N|F|N[N|F|F|F[N| 2.485| 0.621|206 |F[N|N|N|F[F|[F|N| 1.803| 0.451|284 [F|F|N[N|F|F|F|[N| 1.243| 0.311]412
NfN[N|N|[F|F|F|[F| 3.580| 0.895|143 IN|F|N|N|F|F|F|F| 2.473| 0.618|207 |F|N|[N|N|F|F|F|F| 1.790| 0.448 286 |F|F|N[N|F|F[F|F| 1.237| 0.309 | 414
N[N|N|F|N[N[N|N| 3556 | 0.889 144 IN|F|N[F|N|N|N[N| 2462 0.615]|208 | F[N|N|F|N[N[N|N| 1.778| 0.444 288 |[F|F|N[F|N|N|N|[N| 1.231| 0.308|416
NfN[N|F[N|[N|N[F| 3.531| 0.883|145 IN|F|N|F|N|N[N|F| 2.450| 0.612]209 |F|N|[N|F[N|[N|N|F| 1.766| 0.441 (290 |F|F|N|[F|N|N[N|F| 1.225| 0.306|418
N[N|N|F|N[N[F|N| 3507 | 0.877 146 |N|F|N|[F|N|N|F[N| 2.438| 0.610|210 |F[N|N|F|N[N|[F|N| 1.753| 0.438 292 [F|F|N|[F|[N|N|F|[N| 1.219| 0.305|420
NfN[N|F[N|N|F|[F| 3.483| 0.871 147 IN|F|N|F|N|N|F|F| 2.427| 0.607 211 |F|N|[N|F[N|N]JF|F| 1.741]| 0.435(294 |F|F|N|[F|N|N[F|F| 1.213| 0.303|422
N[N|NJF|N[F[N|N| 3.459| 0.865|148 IN|F|N|[F|N]F|N[N| 2.415[ 0.604|212 |F[N|N|F|N[F[N|N| 1.730| 0.432|296 |[F|F|N|[F|[N]|F|N|N| 1.208 | 0.302 | 424
NfN[N|F[N|F|N[F| 3.436| 0.859 149 IN|F|N|F|N|F[N|F| 2.404| 0.601]|213 |F|N|[N|F[N|F|N|F| 1.718| 0.430(298 |F|F|N|F|N|F[N|F| 1.202| 0.300 | 426
N[N|N|F|N[F[F|N| 3.413| 0.853[150 [N|F|N|[F|N]|F|F|[N| 2.393| 0.598 214 |F[N|N|F|N[F|[F|N]| 1.707| 0.427 300 [F|F|N[F|[N]F|F[N| 1.196| 0.299 | 428
NfN[N|F[N|F|F|[F| 3.391| 0.848 151 IN|F|N|F|N|F|[F|F| 2.381| 0595|215 |F|N|[N|F[N|F|F|F| 1.695| 0.424 (302 |F|F|N|F|N|F[F|F| 1.191| 0.298 | 430
N[N|N|F|F[N[N|N| 3.368| 0.842|152 N|F|N|[F|F|N|N[N| 2.370| 0.593|216 |F[N|N|F|F[N|[N|N| 1.684| 0.421 304 [F|F|N[F|F|N|N[N| 1.185| 0.296 | 432
NfN[N|F|[F|IN|N[F| 3.346| 0.837 153 IN|F|N|F|F|N[N]|F| 2.359| 0.590|217 |F|N[N|F|[F|[N|N|F| 1.673| 0.418 306 |F|F|N|[F|F|N[N|F| 1.180| 0.295|434
N[N|N|F|F[N[F|N| 3.325| 0.831[154 IN|F|N|[F|F|N|F[N| 2.349| 0.587|218 |F[N|N|F|F[N|[F|N| 1.662| 0.416 308 [F|F|N|[F|F|N|F[N| 1.174| 0.294 | 436
N|N[N|F|[F|N]JF|[F| 3.303| 0.826 155 IN|F|N|F|F|N|[F|F| 2.338| 0.584]|219 |F|N|[N|F|[F|N]JF|F| 1.652| 0.413 310 |F|F|N|F|F|N[F|F| 1.169| 0.292|438
N[N|N|F|F[F[N|N| 3.282| 0.821 156 N|F|N|F|F]F|N[N| 2.327| 0.582|220 |F[N|N|F|F[F[N|N| 1.641| 0410|312 J[F|F|N|[F|F]F|N|[N| 1.164| 0.291 | 440
N[N[N|F|[F|F|N|[F| 3.261| 0.815[157 IN|F|N|F|F|F[N|F| 2.317| 0579|221 |F|N[N|F|[F|F|N|F| 1.631| 0.408 314 |F|F|N|F|F|F[N|F| 1.158| 0.290 | 442
N[N|N|F|F[F[F|N| 3.241| 0810|158 IN|F|N|F|F|F|F[N| 2.306| 0577|222 |F[N|N|F|F|[F|[F|N| 1.620| 0.405|316 |F|F|N|F|F|F|F|N| 1.153| 0.288 | 444
N|N[N|F|F|F|F|[F| 3.220| 0.805|159 IN|F|N|F|F|F|[F|F| 2.296| 0.574]|223 |F|N|[N|F|F|F|F|F| 1.610| 0.403 318 |F|F|N|F|F|F|F|F| 1.148| 0.287 | 446
N[N|F|N|IN[N[N|N| 3.200| 0.800 160 |N|F|F[N|N|N|N[N| 2.286| 0.571|224 | F[N|F|N|N[N|[N|N| 1.600| 0.400 320 [F|F|F[N|N|N|N|[N| 1.143| 0.286 | 448
NfN[F|N[N|[N|N[F| 3.180| 0.795|161 IN|F|F|[N|N|N[N|F| 2.276| 0.569]|225 |F|N|[F|N[N|[N|N|F| 1.590| 0.398 322 |F|F|F|[N|N|N[N|F| 1.138| 0.284 | 450
N[N|F|N|IN[N[F|N| 3.160| 0.790 162 IN|F|F[N|N|N|F[N| 2.265| 0.566|226 |F[N|F|N|N[N|[F|N| 1.580| 0.395|324 [F|F|F[N|N|N|F[N| 1.133| 0.283 | 452
NfN[F|N[N|INJF[F| 3.141| 0.785[163 IN|F|F[N|N|N|F|F| 2.256| 0.564|227 |F|N|[F|N[N|[N|F|[F| 1.571| 0.393|326 |F|F|F[N|N|N[F|F| 1.128| 0.282 | 454
N[N|F|N|IN[F[N|N| 3.122| 0.780 164 IN|F|F[N|N]JF|N|N| 2.246| 0.561]|228 | F[N|F|N|N[F[N|N| 1.561| 0.390 (328 [F|F|F[N|N]JF|N[N| 1.123 | 0.281 | 456
NfN[F|N[N|F|N[F| 3.103| 0.776 | 165 IN|F|F|[N|N|F[N|F| 2.236| 0.559]|229 |F|N|F|NIN|F|N|F| 1.552| 0.388 (330 |F|F|F|[N|N|F[N|F| 1.118| 0.279 | 458
N[N|F|N|IN[F[F|N| 3.084| 0.771 166 |N|F|F[N|IN|F|F[N| 2.226| 0.557|230 |F[N|F|N|N[F|[F|N| 1.542| 0.386 332 [F|F|F|[N|N|F|F[N| 1.113| 0.278 | 460
N|N[F|N[N|F|F|[F| 3.066| 0.766 167 IN|F|F|[N|N|F|F|F| 2.216| 0.554 231 |F|N|[F|NIN|F|F|F| 1.533| 0.383 (334 |F|F|F|[N|N|F[F|F| 1.108| 0.277 | 462
N[N|F|N|F[N[N]N| 3.048| 0.762|168 |N|F|F[N|F|N|N[N| 2.207| 0.552|232 |F[N|F|N|F[N[N|N| 1524 0.381|336 [F|F|F|[N|F|N|N|N| 1.103| 0.276 | 464
NfN[F|N[F|IN|N[F| 3.030| 0.757 [ 169 IN|F|F|[N|F|N[N|F| 2.197| 0549|233 |F|N|[F|N|[F|[N|N|F| 1.515| 0.379(338 |F|F|F|[N|F|N[N|F| 1.099| 0.275 | 466
N[N|F|N|F[N[F|N| 3.012| 0.753 170 N|F|F[N|F|N|F[N| 2.188| 0.547|234 |F[N|F|N|F[N|[F|N| 1.506| 0.376 (340 [F|F|F[N|F|N|F|[N| 1.094| 0.274 | 468
N[N[F|N[F|N]JF[F| 2.994| 0.749 171 IN|F|F|N|F|N|F|F| 2.179| 0545|235 |F|N|F|N|[F|N|F|F| 1.497| 0.374 342 |F|F|F|[N|F|N|F|F| 1.089| 0.272]470
N[N|F|N|F[F[N|N| 2977 | 0.744 172 IN|F|F[N|F]F|N|N| 2.169| 0.542|236 |F[N|F|N|F[F|[N|N]| 1.488| 0.372|344 |[F|F|F[N|F]|F|N|N| 1.085| 0.271]472
N|N[F|N[F|F|N[F| 2.960| 0.740 173 IN|F|F|N|F|F[N]|F| 2.160| 0.540|237 |F|N|F|N|F|F|N|F| 1.480| 0.370 (346 |F|F|F[N|F|F[N|F| 1.080| 0.270 | 474
N[N|F|N|F[F|[F|N| 2943| 0.736 174 IN|F|F[N|F|F|F|N| 2.151| 0.538|238 |F[N|F|N|F[F|[F|N| 1.471| 0.368|348 |[F|F|F|N|F|F|F[N| 1.076| 0.269 | 476
N|N[F|N|[F|F|F|[F| 2926 0.731 175 IN|F|F|N|F|F|F|F| 2.142| 0.536]239 |F|N|F|N|F|F|F|F| 1.463| 0.366 350 |F|F|F|[N|F|F|[F|F| 1.071| 0.268|478
N[N|F|FIN[N[N|N| 2909| 0.727 176 IN|F|F[F|N|N|N|N| 2.133| 0.533|240 |F[N|F|F|N[N|[N|N| 1.455| 0.364 352 [F|F|F[F|[N|N|N|[N| 1.067| 0.267 | 480
N[N[F|F[N|[N|N[F| 2.893| 0.723 177 IN|F|F|F|N|N[N|F| 2.124| 0.531]|241 |F|N|[F|F[N|[N|N|F| 1.446| 0.362 (354 |F|F|F|[F|N|N[N|F| 1.062| 0.266 | 482
N[N|F|F|IN[N[F|N| 2.876| 0.719|178 IN|F|F[F|N|N|F[N| 2.116| 0529|242 |F[N|F|F|N[N|[F|N| 1.438| 0.360 (356 |[F|F|F|[F|N|N|F|N| 1.058| 0.264 | 484
N|N[F|F[N|IN|F|[F| 2.860| 0.715[179 IN|F|F|F|N|N|F|F| 2.107| 0.527 243 |F|N|F|F|[N|N]JF|F| 1.430| 0.358 358 |F|F|F|F|N|N|F|F| 1.053| 0.263 | 486
N[N|F|F|IN[F[N|N| 2.844| 0.711 180 N|F|F[F|N]F|N|N| 2.098| 0.525|244 |F[N|F|F|N[F[N|N]| 1.422| 0.356 360 [F|F|F|[F|N]F|N[N| 1.049| 0.262 | 488
N|N[F|F[N|F|N[F| 2.829| 0.707 [ 181 IN|F|F|F|N|F[N|F| 2.090| 0522|245 |F|N|F|F|[N|F|N|F| 1.414]| 0.354 362 |F|F|F|F|N|F[N|F| 1.045| 0.261 | 490
N[N|F|F|IN[F|[F|N| 2.813| 0.703|182 IN|F|F|[F|N|F|F|N| 2.081| 0520|246 |F|[N|F|F|N|[F|[F|N]| 1.407| 0.352|364 [F|F|F|[F|N|F|F|[N| 1.041| 0.260 | 492
N[N[F|F[N|F|F[F| 2.798| 0.699 183 IN|F|F|F|N|F|F|F| 2.073| 0.518|247 |F|N|F|F|[N|F|F|F| 1.399| 0.350 (366 |F|F|F|F|N|F[F|F| 1.036| 0.259 | 494
N[N|F|F|F[N[N|N| 2.783| 0.696 184 [N|F|F|[F|F|N|N|N| 2.065| 0516|248 |F[N|F|F|F[N|[N|N| 1.391| 0.348|368 [F|F|F|[F|F|N|N|[N| 1.032| 0.258 | 496
N|N[F|F|[F|IN|N[F| 2.768| 0.692|185 IN|F|F|F|F|N[N|F| 2.056| 0.514]|249 |F|N|F|F|[F|[N|N|F| 1.384| 0.346 370 |F|F|F|F|F|N[N|F| 1.028| 0.257 | 498
N[N|F|F|F[N|[F|N| 2.753| 0.688|186 [N|F|F|F|F|N|F[N| 2.048| 0512|250 |F[N|F|F|F[N|[F|N| 1.376| 0.344 372 |[F|F|F|F|F|N|F[N| 1.024 | 0.256 | 500
N|N[F|F|[F|N|F|F| 2.738| 0.684 187 IN|F|F|F|F|N|F|F| 2.040| 0.510|251 |F|N|F|F|F|N]JF|F| 1.369| 0.342 (374 |F|F|F|F|F|N|[F|F| 1.020| 0.255|502
N[N|F|F|F[F[N|N| 2.723| 0.681|188 IN|F|F|F|F]F|N|N| 2.032| 0.508|252 |F[N|F|F|F[F|[N|N| 1.362| 0.340(376 |F|F|F|[F|F|F|N|N| 1.016| 0.254 | 504
N|N[F|F|[F|F|N|F| 2.709| 0.677 189 IN|F|F|F|F|F[N|F| 2.024| 0.506|253 |F|N|F|F|F|F|N|F| 1.354| 0.339(378 |F|F|F|F|F|F[N|F| 1.012| 0.253|506
N[N|F|F|F[F|[F|N| 2.695| 0.674|190 [N|F|F|F|F|F|F|[N| 2.016| 0.504|254 |F|N|F|F|F|[F|F|N| 1.347| 0.337|380 |[F|F|F|F|F]|F|F|[N| 1.008| 0.252|508
N|N[F|F|F|F|F|F| 2681 0.670 191 IN|F|F|F|F|F|[F|F| 2.008| 0.502|255 |F|N|F|F|F|F|F|F| 1.340| 0.335(382 |F|F|F|F|F|F|[F|F| 1.004| 0.251|510




